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1. 808 @Dcsrets JSHM SrQoDS X, Ax dOHS0E Ay,y ol S8 08
i)  y=x*+3x+6, x=10, Ax=0.01
& Ay = f (x+Ax)— f (X)
= f(10.02) - f (10)

=[(10.01)* +3(10.01) +6 | {107 +3(10) + 6]

=100.2001+30.03+6-100—-30-6
=0.2001+0.03
=0.2301

y=X*+3X+6
dy(2x + 3)dx
=(2.10+3)(0.01) =0.23

i) y=e*+x,x=5 Ax=0.02

& Ay = f (x+Ax)— f (X)
= f(5+0.02)- f (5)
= f(5.02) - f (5)
=e>% e’ -5
=e*? -e°+0.02
=e°(e*” -1)+0.02
dy = f'(x)Ax = (e* +1)Ax
= (e* +1)(0.02)

i)  y=cosx x=60% Ax=1°
Ay = T (x+ Ax)— f (X)
=.C0S(X+ AX) —COS X
=c0s(60° +1°) —cos 60°

=c0s61° —cos60°

04848+
2
=0.4848-0.5° =-0.0152
dy = f'(x)Ax
= —Sin XAX
=—-sin60°(1°) = ~V3 (0.0174)
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= —(0.8660)(0.0174) = —0.0151
2. 808 o788 Greon0) Jenden EI0EY0S

i) +/25.001
X=25
Ax=0.001
f(x) =+/x dy = f'(x)Ax
dy = f'(x)Ax
1 1 0.001
2 = oy 0=
=0.0001
f (x+Ax) = f(x)+dy
~/25+0.0001
~5.0001
i)  cos(60°5")
Xx=60°, Ax=5'
ST _ T
60 180 2160
=0.001453
f (x) =cos x

dy = f'(X)Ax =—sin X Ax
=—sin60°(0.001453)

_ ‘_f(o.001453)
=-0.8660(0.001453)
=-0.001258

f (x+Ax)= f(x)+dy
=~ CcoSX +dy

~¢0s 60° +0.001258
=0.5-0.001258
~0.4987

i) 417
Xx=16, Ax =1

f(x)= Yx = X%
dy = f'(x)Ax

1 4

=—X4 AX



_1 X~ Ax
4

l -3/4
=290

1. 0.0312
32

f(X+Ax) = f(x)+dy

= 4/x +0.0312

~2+0.0312

~2.0312
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A=x?
AA = 2XAX
AA 2XAX

— %100 = >
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r=14, Ar=0.02

s=4rr’

AS =47 2rAr

As =37 (14)(0.02)

=2.24r

=2.24(3.14)

=7.0336
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= kY (40)°(0.02)

— 7(1600)(0.01)
=167
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s=4rx [9}
2

2
S=4r—
4

s=7d?
As=rn2dAd
=2(40)(0.02)
=1.6xr
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logt = log(27) +%{(Iog(l) —log g}
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At 100=-129 100
t 29
%xlOOz0.0l
A9 100=2
g
—0.01= —%ﬂxloo 29 100=-0.02
g g

5 g S &lad0n=-0.02% (Sa°)
g S° &R S50 = -0.02
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AA= d—AAX —(2)
dx

JAES0 (1) 0080 (2)80 AA~ 2XAX ™ TP005E8). SPeed WD) eheo
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AA = 2(3)(0.01) =.0.06 0.7
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